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Problem statement
Find the number of misses with a fully associative mapping, consisting of 4 one-word blocks
given the following sequence of block addresses:

1,2,4,6,1,2,4,2,4,3,5
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Problem statement

Find the number of misses with Direct mapping, consisting of 4 one-word blocks given the
following sequence of block addresses:

1,2,4,6,1,2,4,2,4,3,5
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Problem statement

Find the number of misses with a 2- way set Associative Mapping, consisting of 4 one-word blocks
given the following sequence of block addresses:
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